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4. Suppose A is an n x n matrix and Az = 0 has infinitely many solutions. Let
b be a vector in R".

(a) Can Az =b have no solution?
(b) Can Az =b have exactly one sqution?@
(¢) Can Az = b have infinitely many solutions

(d) EXPLAIN each answer. i : . ‘ T “f{/f&'
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5. Suppose vi,...,v, are linearly independent vectors in R . Do vy,...,v, have
| to span R® 7 EXPLAIN.
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6. Let B be the basis [_35} : [_64] of R?. Suppose that z is the vector in R?

whose coordinate vector with respect to the basis B is [z|g = [g} . What is

the usual representation of z 7 :
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